Further Practices


Further Practice 6.1A
Basic

1. Express each percentage as (i) a decimal, and (ii) a fraction.

(a) 17%





(b)
24%


(c) 55%





(d) 115%

2. Calculate the following.
(a) 42% of $27




(b)
17% of 500 cm3

(c)
35% of 8.5 kg



(d)
40% of 80 marks

Intermediate

3. Jamie has 485 stamps. 20% of them are local stamps. How many local stamps does Jamie have?
4. There are 370 birds in a bird farm. 70% are ducks and the rest are geese. How many geese are in the farm?
Challenging

5. Mr Tan bought a house for $410 000. He paid a deposit of 30% and took on a loan for the remaining amount. How much was his loan? Give your answer correct to the nearest ten thousands.
Further Practice 6.1B
Basic

1. Express the following.
(a) 0.3 kg as a percentage of 15 kg
(b) 68 cm as a percentage of 80 cm
(c) $2 as a percentage of $16
2. Express the following.
(a) 30¢ as a percentage of $10
(b) 45 g as a percentage of 2 kg
(c) 450 mℓ as a percentage of 2.5 ℓ
Intermediate
3. There are 72 flowers in a garden. 27 of them are roses.

(a) What fraction of the flowers are roses?

(b) What percentage of the flowers are NOT roses?

4. There are 120 people in a cinema. 48 are men and 15% of them are children. The rest are women.
(a) How many children are there in the cinema?

(b) How many women are there in the cinema?
Challenging

5. There are 40 students in a class. 60% of them are girls. 25% of the girls wear spectacles. 
(a) How many girls wear spectacles? 

(b) If 4 boys wear spectacles, what percentage of the students wear spectacles?
Further Practice 6.2A
Basic

1. The original price of a doll is $7.20. There is an increase of 25%. Calculate the new price of the doll.
2. The original number of animals in an animal shelter was 50. A year later, the number of animals increased by 16%. Calculate the new number of animals in the shelter.

Intermediate

3. There were 960 students in School A last year. There is an increase of 85 students this year. What is the percentage increase? Give your answer correct to 3 significant figures.
4. The cost of a television set during a sale was $1780. After the sale, the price increased to $1904.60. Calculate the percentage increase. 

Challenging

5. Aminah bought a book for $8. She increased the price by 20% and sold the book to James. James further increased the price of the book by 15% and sold it to Khalid. Khalid gave James $15. How much change should James give Khalid?
Further Practice 6.2B

Basic

1. Calculate the percentage decrease from:
(a) 40 kg to 30 kg
(b) 5 ℓ to 4 ℓ
(a) Decrease $47 by 15%. What is the new amount?
(b) Decrease 80 cm by 40%. What is the new length?
Intermediate

2. Amelia bought a bag for $59. She sold it to a friend at $54.50. What is her percentage loss? Give your answer correct to 2 significant figures.
3. The price of a car was $48 960. During a sale, there was a discount of 8.5%. How much did the car cost during the sale?

Challenging

4. There was 726 ℓ of water in a tank. There was a leak in the tank and 141 ℓ of water seeped out. After the leak was fixed, 223 ℓ of water was added into the tank.
(a) What is the new amount of water in the tank?
(b) What is the percentage change of the amount of water in the tank from the original amount? Give your answer correct to 3 significant figures.

Further Practice 6.3

Basic

(a) 15% of a number is 60. What is the number?
(b) 24% of a number is 102. What is the number?
(a) 82% of A cm is 164 cm. How much is 53% of A cm?

(b) 56% of B dollars is $49. How much is 82% of B dollars?

Intermediate

3. Damien weighed 62.8 kg. After an increase in weight of 17%, His original weight was 109% of Edwin’s weight. Giving your answers correct to 1 decimal place:
(a) Find Damien’s original weight.


(b) Find Edwin’s weight.

4. Jenny bought some balloons for a party. 20% of them are red. 24% of them are orange and the rest are blue. There are 18 more blue balloons than red balloons. Find the number of orange balloons Jenny bought.
Challenging

5. Baker wants to buy a tennis racquet and a football. The usual price of a racquet and a football at two shops are $98 and $27.50 respectively. During a sale, both shops gave discounts for these items.
Shop A: 10% off the racquet and 18% off the football

Shop B: 8% off the racquet and 30% off the football

(a) Which shop could Baker buy his items at the cheapest price?

(b) How much would he save if he went to this shop compared to the other shop?

Chapter 6 Percentage

